TOWN OF VIENNA SURETY VALUE ESTIMATE Establish New Surety: [X] New Unit Prices: [] A. ESTIMATE TO: (Check One) Other: []_ Reduce Surety on File: [] Lines 1-9 TO BE COMPLETED BY ENGINEER OR LAND SURVEYOR 1. Plan Name: ANDREW MINOR SUBDIVISION 2. Plan Number 3. Map Reference: 038-3 ((2)) 0085 130 Pleasant Street 4. Location: **RS-16** 5. Zoning Category: Lots/DU's: 3 6. Distrubed Acerage: 1 48 Acres: 1.90 Months/Time Limit: 12 Subdivision 7. Type of Project: Smith Engineering 8. Engineer or Surveyor (Firm): 14901 Bogle Dr., Suite 202, Chantilly, VA 20151 Address: ashleigh@smithengineeringva.com 703-956-6204 Email: Telephone: Ashleigh T. Bleeker 9. Prepared by: May 27, 2014 Date: B. BOND AND PERMIT PACKAGE CONTACT/DEVELOPER CONTACT INFORMATION 10. Contact Name: 11. Address: 12. Telephone: 13. Email: C. DEVELOPER APPLICATION FOR REDUCTION OF SURETY AMOUNT Lines 14 - 19 must be completed by the Developer 14. Prior to filing this application with the Site Development and Inspections Division for confirmation by the site inspector, PLEASE COMPLETE the information on lines 14 -19 below 15. Failure to furnish all requested information will result in delays in submission of this application and further delays in the processing of the reduction of the securities for the project. 16. [] An estimate, prepared by a professional engineer/surveyor is attached. 17. [] A fee in the correct amount is enclosed. (Date) 18. The agreement for this project expires on: 19. The undersigned developer/subdivider represents and certifies that to the best of their knowledge, information, and belief, all work for which this request for partial security reduction is submitted has been completed in full, in accordance with the approved plans and the conditions and terms of the Agreement and Security specified herein. Date: Signature: Firm Name: Telephone: Address: D. SITE DEVELOPMENT AND INSPECTIONS DIVISION - Reserved for County Use __ (Date) and I concur with [] percent (%) presented An inspection was performed on the site on ___ percent (%) as corrected or attached:

Inspector's Signature:

Area Supervisor's Signature:

E. PUBLIC IMPROVEMEN	. O - I ODL	.U IVIA							County Us			
									For County Use Only			
1. STORM DRAINAGE	Qty.	Unit		Unit Cost		Total	% Comp	% Confirmed	\$ Amount To Date	Unfinished Work		
18" RCP Pipe	316.65	LF	\$	57.39	\$	18,172.54						
15" RCP Pipe	293.43	LF	\$	47.83	\$	14,034.76						
24" CMP Pipe	14.62	LF	\$	53.81	\$	786.70						
18" CMP Pipe	46.84	LF	\$	44.25	\$	2,072.67						
YI-3 (With Apron)	2.00	EA	\$	5,874.37	\$	11,748.74						
DI-3B (L=6')	2.00	EA	\$	5,131.20	\$	10,262.40						
DI-3B (L=12')	1.00	EA	\$	5,858.59	\$	5,858.59						
					\$	17,936.60						
MH-2 (6' Depth)	5.00	EA	\$	3,587.32								
MH-2 (Depth Below 6')	15.20	VF	\$	191.32	\$	2,908.06						
24"x14" Elliptical Pipe	30.90	LF	\$	81.31	\$	2,512.48						
DI-3B (L=4')	1.00	EA	\$	4,804.99	\$	4,804.99						
					\$	-						
					\$	-						
					\$							
					\$							
					\$	-						
					\$	-						
					\$	-						
					\$							
					\$							
					\$							
					\$	91,098.54	Subtotal					
			10-0-33									
						and the second second second second second			County Use			
STORMWATER MANAGEMENT				Unit		T-1-1	%	% Confirmed	\$ Amount To Date	Unfinishe Work		
FACILITIES	Qty.	Unit		Cost		Total	Comp	Confirmed	10 Date	VVOIK		
PUBLIC MAINTENANCE			- 21116		\$	-						
12" CMD Ding	605.50	IE	\$	106.00	\$	64,183.00						
42" CMP Pipe			-									
Filter Fabric	8318.00	10000000	\$	2.55	\$	21,210.90				-		
Aggregate (#57 Stone)	518.85	TON	\$	8.45	\$	4,384.28						
					\$							
					\$	-						
					\$	-						
					\$	-						
					\$	-						
PRIVATE MAINTENANCE		100000000000000000000000000000000000000			\$	-						
PHYATE MAINTENANCE					\$	-						
			-		\$	•						
			ļ				ļ					
					\$	-						
					\$	-						
					\$	-						
					\$							
					\$	-	I man recent					
		-					-					
			L		\$	89,778.18	Cubtotal					
					Ф	03,110.10	Jountotal	L				
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	_									
2. UTILITIES	2.000			Unit Cost		Total	% Comp	% Confirmed	\$ Amount To Date	Unfinishe Work		
	Qty.	Unit				9,405.94	+					
8" PVC San Sewer Pipe	224.70		\$	41.86	\$							
6" DIP W/L	358.20		\$	86.10	\$	30,841.02						
Fire Hydrant	2.00	EA	\$	4,256.97	\$	8,513.94						
6" Valve	3.00		\$	854.98	\$	2,564.94		2100				
8" Valve	1.00		\$	1,118.05	\$	1,118.05						
o valve	3.00		\$	640.93	\$	1,922.79						
			1000									
Service Connection	2.00	EA	\$	1,076.19	\$	2,152.38						
Service Connection		VF	\$	169.80	\$	2,733.78						
Service Connection 4' ID Standard MH	16.10		\$	3,978.35	\$	3,978.35						
Service Connection 4' ID Standard MH 4' ID Depth			D	3,976.33						A WARREN TO STATE OF THE STATE		
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch	16.10 1.00	EA	-		\$	3,004.82		1				
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch	16.10	EA	\$	23.66	\$	3,004.82						
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch	16.10 1.00	EA	-		\$	3,004.82						
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch	16.10 1.00	EA	-		\$	-						
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch 4" PVC San. Sew. Lateral	16.10 1.00	EA	-		\$ \$ \$	3,004.82						
Service Connection 4' ID Standard MH 4' ID Depth 8" Tap In Street Patch	16.10 1.00	EA	-		\$	-						

Plan Name: ANDREW MINOR SUBDIVISION

Plan Number:

Plan Numbe	er:	100-100-100-100-100-100-100-100-100-100		Plan Name:	AND	REW MINOR	SUBDI\	/ISION			
3. STREET CONSTRUCTION									FOR REDUCTION ESTIMATE ONI For County Use Only		
DEDICATED RIGHT-OF-WAY	Qty.	Unit		Unit Cost		Total	% Comp	% Confirmed	\$ Amount To Date	Unfinished Work	
Salsbury Lane NW		- Oim									
1.5" SM-9.5A	1072.54	SY	\$	11.96		12,827.58					
3.0" BM-25.0	1072.54	SY	\$	21.53	\$	23,091.79					
CG-6	604.63	LF	\$	25.12		15,188.31					
CG-12	2.00	EA	\$	597.89		1,195.78					
CG-9	30.00	SY	\$	58.23	\$	1,746.90					
4" Concrete Sidewalk	313.76	SY	\$	46.23	\$	14,505.12					
4" Sidewalk Base	313.76	SY	\$	10.37	\$	3,253.69					
					\$	-					
					\$	-					
Pleasant Street			-								
						0.000.00					
CG-6	107.48		\$	25.12	\$	2,699.90					
4" Concrete Sidewalk	57.04		\$	46.23	\$	2,636.96					
4" Sidewalk Base	57.04		\$	10.37	\$	591.50	the second second				
Street Light	1.00		\$	4,783.11	\$	4,783.11					
1.5" SM-9.5A	304.04		\$	11.96	\$	3,636.32					
3.0" BM-25.0	26.32		\$	21.53	\$	566.67					
Upgrade Ex. Street Lights	2.00	EA	\$	650.00	\$	1,300.00					
All a second and the					\$:. 					
					\$						
					\$	_					
					\$	-					
					\$						
					\$	-					
					\$	-					
			1		\$	_					
					\$						
			1		\$	-					
			-		\$	-					
					\$	-					
		-	+		\$	_					
			-		\$	-					
			-		\$						
			-		\$						
			-		\$						
	_				\$						
		-	-		\$	88,023.63	Subtotal				
		1			Ψ	00,020.00	Odbiotai	<u> </u>	The state of the s	<u> </u>	
4. PRIVATE STREETS/VEHI	ICUI AR ING	RESS -	FGR	FSS - PRIVA	TE N	IAINTENANC	E				
A CONTRACTOR OF THE PROPERTY O	JOEAN ING	00		National Control of the Control of t			Companie tale		County Use		
ITEM	Qty.	Unit		Unit Cost		Total	% Comp	% Confirmed	\$ Amount To Date	Unfinished Work	
					\$	-					
					\$						
	H				\$						
					\$	-					
					\$	_				45	
					\$	-					
					\$	-					
					\$	-					
					\$	-					
		1			\$	_					

Note: Section 9 below is to be used be the section 9 below is to be used be the section of the bon 12. CONSERVATION DEPOSE			PI	an Name:	AND	REW MINOR SU	BDIVISION		
12. CONSERVATION DEPOS	y the submitting nd amount deterr	engineer	or sur	rveyor to calcula n 8 and is not to	ate the be incl	amount of the conser	vation deposit only mount.	<i>i.</i>	
	SIT						For	County Us	e Only
		11-14		Unit Cost		Total	% Confirmed	\$ Amount To Date	Unfinished Work
ITEM Construction Entrance w/	Qty.	Unit	+	COST					
Wash Rack	1.00	EA	\$	2,989.44	\$	2,989.44			
Seeding includes fertilizing	3900.00	SY	\$	2.39	\$	9,321.00			
Temporary Sediment Trap	165.56		\$	8.97	\$	1,485.07			
Temp Trap Gravel Outlet	12.50	and the second second second	\$	29.90	\$	373.75			
Silt Fence	1646.63		\$	4.78	\$	7,870.89			
Storm Inlet Protection	6.00		\$	191.32	\$	1,147.92			
Tree Protection	740.23 868.55		\$	9.57 9.57	\$	7,084.00 8,312.02			
Temporary Diversion Dike	000.55	L	12	9.57	\$	6,312.02			
		<u> </u>	-		\$				
	1		-		\$	5 <u>-</u>			
			1		\$	12			
					\$	-			
			-				For	County Use	e Only
				SUBTOTAL	\$	38,584.10			
	Plus 15% Sup	ervision	Admir		T -	,55 11.15			
	Inflation	or vision,	Aumi	nou auom anu	\$	5,787.61			
	E-15-150.3								
				SUBTOTAL	\$	44,371.71			
	Minus 10% (F	or Two-F	Phase	E&S Control	\$				
	Fidit				ΙΨ		***************************************		
				TOTAL	\$	44,371.71			
14. SPACE BELOW TO BE C	OMPLETED	FOR F	REDU	ICTIONS ON	ILY				
	OMPLETED	FOR F	REDU	ICTIONS ON	ILY				
AFFIDAVIT:									
AFFIDAVIT:						fessional Engine	er or Licensed	Land Surve	eyor in the
14. SPACE BELOW TO BE COMMONWEALTH OF VIRGINIA, do the measurement thereof, and measure of the work complete	o hereby certing	fy that I	have	, a Registere	d Pro	fessional Engine ned the work in p completed as exp	er or Licensed place and have pressed herein	Land Surve personally represent a	eyor in the supervise an accura
AFFIDAVIT: ,	o hereby certi d that the pero ed to date on	fy that I	have	, a Registere	d Pro	fessional Engined ned the work in p completed as exp	ressed herein	Land Surve personally represent a	eyor in the supervise an accura
AFFIDAVIT: , Commonwealth of Virginia, do the measurement thereof, and measure of the work complete	o hereby certing that the percent to date on er/Surveyor	fy that I centage this pro	have es of t oject.	a Registere e personally the items of	d Pro	completed as exp	ressed herein	Land Surve personally represent a	eyor in the supervise an accura
AFFIDAVIT: , Commonwealth of Virginia, do the measurement thereof, and measure of the work complete Signature of Enginee	o hereby certion of that the percent to date on er/Surveyor	fy that I centage this pro	have es of t nject.	a Registere e personally the items of	d Pro	completed as exp	ressed herein	Land Surve personally represent a	eyor in the supervis an accura
AFFIDAVIT: ,	o hereby certified that the percent to date on er/Surveyor	fy that I centage this pro	have es of t oject.	a Registere e personally the items of	d Pro exami work d	Da	te	represent a	eyor in the superviso an accura
AFFIDAVIT: ,	o hereby certified that the percent to date on er/Surveyor	fy that I centage this pro	have es of t oject.	a Registere e personally the items of	d Pro exami work d	Da	te	represent a	eyor in the supervis an accura